HanauTte KopeHb ypaBHEHUS:

X +125=200
320: X =8
X:30=60
X-/7=15
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15/7=15:7 =2 ( oCT 1)
15/7 = 2 1/7
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11¢cyT= Y
11 KM = M



11 cyT=24-11=264 Y

11 KM =1000-11=11000Mm
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Tema ypoka:
« POPMYIJIbl

OAQHOBPEMEHHOIO
OBUXEHWA.»



dopmyna:
- KombunHauus
MaTeMaTUYECKNX 3HAKOB,

Bblpa)karoLlaa Kakoe-
HMOyYAOb yTBEPXAOEHWE.

- KpaTkoe 1 To4Hoe
CITOBECHOE BblpaXKeHue.



4 cnyyYyasd ogHOBPEMEHHOro
OBWXEHUA:

HaBCTpeYy

B NPOTUBOMONOXHbIX
HanpaBneHnax

BLOOIOHKY
C OTCTaBaHUEM



OO

OO0O>PO0OWW>»WWP>OO
w



[laHa wn Baca pewunn u©3
TMMHa3nM NOUTU HaA 3KCKYPCUIO
B Pyccknn mysen. [1aHAa BbiLen
nepBbiIM CO CKOPOCTbO 40
M/MUH. Korga paccTosHue
Mexay manbdmkamm obino 100
M, U3 TMMHa3un BblDexxan Bacs
CO CKOPOCTbIO 60 M/MUH.

Uepe3 ckonbko BpeMeHn Bacs
norodiaT Nauwin?
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